@ 7x3=3+18
® 01:09=10:90

1
® =:-=3:2
2

Wl

@ 2:3=4:6

@ 9:45=1:5



@



O 3,6,4

@ 3,4,6

® 4,3,6

@ 4,6,3

® 6,3,4




17cm

Tcm

~13cm”

cm



H oo
_%o]

@

B
BH

B

@ A&

o |

ot
—mA

-
KA



ool A 2 moke T3S o, ek Aol A4} ThE s e

s
h

@ @

@

@ﬁ
W
" op

W




o

ol
A




@ Yz 174, = 1744 seldytch
® LEZ 174, Y2 1744 Eoldytt.



9.

QB 09 F& T5HA L.

36:27=(36+9): (27+@)=4:0

D 10

@ 11 ® 12 @ 27

® 81




15

@ 15 ® 45 @ 50 ® 65

@ 5



o™ b=

— [




N7

®
15 A

T

N

@
14 A

@
13 A7+

N

®
17 A

@
16 A1ZF



2

o =
=R

13. o

o

o Ay

o B

o0
ol
T
ol

e
W

I

B
oju

BH

o
Gl

ol
50

ol
B
BH






15. o BYolA B85 Bger wrsdd A7vr5 2 7l v
A=A F5HA 2.




16. [ gtol 502 47 22 A% A2 7158 et e

o= A7

@36:[ |=9:5 ©5:9=[]:36

@é:%:D:QO @ 42:30=21:[]

D O<0<@®<® @ E<O<0<® ® B©<O<0<®
@ E<0<O<® ® E<O<O<®



17. AAZES By, 97159 Aylo]S T/ Q.

@

T~--31 4em-" "

O

-

15¢cm
]




(il

o] 14cm ©]1, =0]7} 13cm ¢ Y752 B0 & 16}A]

cm



19. vs WHEz whE A=Y FuE F5HA 2.

| T "---43.96cm---""[5cm




20.

F1]7} 401.92cm? |21, 9E2]F2] do]7t 4cm Q1 ¥7]E 9] =0]

A 2.

il

4 e

- ———

a = cm



21. the uhgag §lo] 7t 7ol 0] A SurE AIURE BE ),
™
=

meyel 250 e AVIUE ASE et B A Aurk
(1) (v)
211

@ 574 @ 670 @ 770 @ 87N ® 974



cheut ol
B 2 g4

22.

M



23. o 2" E2 A wEt A7 IUR-E ot B ® 6574
e, 150lle 27 Ivot 2 8 287




2ol ghz1 5ol Zdol7t 5em o], Eo]7F 12em Q)
U B Aol HIIES Hsh 1 gt HIEES A
Wole 2 am? Q1] oA 2

B o



25.



